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Graphs =>Trees But note that
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Matching Polynomial Note: This only gives delighttime algs.

s trick that makes it poly(n) (Patel-Regts]
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Barrinok's Method What's the error in truncation?

- Goal: estimate Pl - Complex analysis fact: zeros of p
ly xderivative 1 for 190
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Proof: for = 4 We have me so
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Extending beyond disks

Taylor seriesfor 1911-x): (valid for MII) Idea: Find polynomial & St.
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*How to design P: Take P's Taylor approxedyes onmbine with

Riemann Mapping:
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Proof: We use induction.
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for any fixed zapso/ple) on We will work with functions
Abounded - degree graphs has GEPTAS.

SGraphs ->

How do we remove the as that can be written as finite

linear combination:
-Smarter way to compute

m
= Hk-matchings. *(G1:2), ind (HpG) +..-+ (wind (He(G)

*Brute-force:nOlu)

*Contel-Regts]: polecn · 19)
Example:

- f (G) = Avertices - ind)G)
-We only go up to signo

- f(G)= Hedges = ind (8,G) /2

- Works with
- f(G)= #2-matchings -

ind)H,G): Hinduced copies of (ind 188) 3ind):9).2x...] /24
I #in G

fixed graph
- Example: ind). 9) -Ledges in G.
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The space of these functions is rich.
Proof:

-

Note that if I is connected

- Eig t ftg ind(Hc.) is additive

-Sig+= 5.9 - suppose f= [crind (HicG)
T

his is because
- Pice the disconnected It; with

ind (H,,G).ind (H2)G) = the smallest #of edges.

3) HH1G142(HEAx4)+... ⑭D3H
- Then f (161) - f1A)-f(R) =C:-0.8

Call a function additive if

disjoint union. -This means C1z0 ag

5(a,Gz) = =(G)+-(42)
key Observation: If it is connected,

Theorem: Additive functions only need
counting indittsG) can be done

connected graphs H; in

9)(G= ( ind (Ap4)+--AGind (A24)
in polyin) (Hil) time.


